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Ist f(−x) =… 
 
 
 
 
 

…= f(x), so ist ihr Graph Gf 
achsensymmetrisch zur y-Achse. 

 
 

…= −f(x), dann ist Gf 
punktsymmetrisch zum 
Koordinatenursprung. 

 
 

 
 

Der Graph der Funktion f1(x) =
2x2−2

x2−4
 ist 

achsensymmetrisch zur y-Achse. 
 
 

 

 
 

Der Graph von f2(x) =
x3

9x2−81
 ist 

punktsymmetrisch zum 
Koordinatenursprung. 

 
Begründung: 

f1(−x) =
2(−x)2−2

(−x)2−4
  

=
2x2−2

x2−4
= f1(x)  

 

f2(−x) =
(−x)3

9(−x)2−81
  

=
−x3

9x2−81
  

= −
x3

9x2−81
= −f2(x)  
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